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QUESTION 1
What is the purpose of configuring a VMkernel port for Fault Tolerance logging?

A. The selected vmkernel port is used to send external inputs from a primary virtual machine to its secondary
counterpart.

B. The selected vmkernel port is able to log Fault Tolerance events to a syslog server.
C. The selected vmkernel port is used to trigger a failover from the primary machine if a hardware crash occurs.
D. The selected vmkernel port is able to maintain a log of changes to the secondary virtual machine.

Correct Answer: A

QUESTION 2

An organization is designing a new vSphere cluster to support a new product implementation. The following challenges
have been identified by the vSphere administration team:

The organization has the vSphere Enterprise License.
The network team needs to gather virtual machine network statistics over a long period of time.
The network team needs the ability to quickly assess virtual machine traffic in the event of an attack.

The network team has previously had problems implementing manual etherchannel configurations on their physical
switches, resulting in production outages.

The new cluster\\'s initial size is 15 hosts.

The organization is willing to upgrade to vSphere Enterprise Plus licensing if it addresses these challenges.

Which three features of a version 5.5 vSphere Distributed Switch would address these challenges? (Choose three.)
A

LACP in Dynamic Mode

B.

Port Mirroring

C.

Network vMotion

D.

Private VLANs
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E.
Network 1/0 Control

Correct Answer: ABC

QUESTION 3

A vSphere administrator needs to configure the environment to send a notification to a monitored email address every
time a vSphere alarm is triggered. Which procedure should the administrator use to accomplish the task?

A. Use the vSphere web client to configure the vCenter Server SMTP settings. Edit the alarm action to send a
notification email.

B. Use the vSphere web client to configure the vCenter Server SNMP settings. Edit the alarm action to send a
notification email.

C. Use the vSphere web client to create a vCenter Server scheduled task that will send a notification email when an
alarm is triggered.

D. Use the vSphere web client to create a vCenter Orchestrator workflow that will send a notification email when an
alarm is triggered.

Correct Answer: A

QUESTION 4

A vSphere administrator has been using vSphere in evaluation mode and now wants to deploy an environment that
provides the same features. Which edition of vSphere provides similar functionality to evaluation mode?

A. Enterprise Plus
B. Enterprise

C. Standard

D. Essentials

Correct Answer: A

QUESTION 5

A vSphere administrator deleted a vApp from disk. A second administrator needs the virtual machines that were
contained in the vApp. What should the first administrator do to make the virtual machines available?

A. Recover the virtual machines from backup
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B. Add the virtual machines back into inventory
C. Undelete the vApp
D. Recover the virtual machines from Stranded Items

Correct Answer: A
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